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ving Equations

>

// \ Diagram NOT accurately drawn

B
B 10 C

In the diagram, all measurements are in centimetres.

ABC is an isosceles triangle.

AB = 2x
AC = 2x
BC =10

(a) Find an expression, in terms of x, for the perimeter of the triangle.
Simplify your expression.

The perimeter of the triangle is 34 cm.

{b} = Find the value of x,
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Diagram
NOT
accurately
drawn

o

The sizes of the angles, in degrees, of the triangle are

2x+7
2X
x+18

(a) Use this information to write down an equation in terms of x.

DR R R L R I I I T T T,

{b) Use your answer to' part{a) to work out the value of x,
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C

Diagram NOT accurately drawn
In this quadrilateral, the sizes of the angles, in degrees, are

x+ 10
2x
2x
50

(a) Use this information to write down an equation in terms of x.

(b) Workout the value of x....... U PSSR OUPPRPI

oy
b
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4, The perimeter of this triangle is 12 cm.
All lengths on the diagram are in centimetres.

Work out the value of £.
(t+4)
(t+3)

(=1

Diagram NOT accurately drawn

2x X+3

Diagram NOT accurately drawn

The diagram shows a triangle.
The sizes of the angles, in degrees, are

3x
2X

x+ 30

Work out the value of x.
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6.

The area of this rectangle is

18cm? The perimeter is 18cm.

3cm
The values are equal.
B
gem
What value of y makes the area and
perimeter of this L-shape equal in value?
- Ol Not drawn
accurately
Scm ki
| 3cm
i
H
YO 0y
2
7cm
‘?‘ —_—
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7. The diagram shows a kite.

The side lengths are in centimetres,

Not drawn
n+2 n+?2 accurately

(@) When n =8, what is the perimeter of the kite?

om

(b) When the perimeter of the kite is 100em, what is the value of n?
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8. Look at this diagram of three identical squares
with sides length r

{a) Write an expression in terms of r for the total area of the three
squares.

P ot t T SR S )

..............

9. Two different rectangles are joined together to make a compound shape.

Shape A has a length of {x + 3) and a width of (x + 2).
Shape B has a length of (x + &) and a width of (x = 2).

All measurements are in centimetres.

X+ 3)
NOT TO
o SCALE
Shape A |*¥*2)
Shape B x=2)
(x +6)

Find an expression for the area of the compound shape in cm?,

Give your answer in the form ax? + bx + ¢.
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10. Four pupils want to find the area of this shape.

E 3

#

! I3

2
~ Lot

H
They each draw a different diagram and write a different expression for |
the area. |

Draw an arrow from each diagram to the expression that it regﬁreSerzts.

The first is done for you.

3{n—-5)+5n

5(n = 3) + 3n

5(n — 3) + 3(n - 5) + 15

n® —(n = 3)(n - 5)
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11.{g8) The perimeter of a regular hexagoen is 42a + 18

Write an expression for the length of one of its sides.

{b) The perimeter of a different regular polygon is 78b - 20

The length of one of iis sides is 18b—4

How many sides does this regular polygon have?

{c) The perimeter ofa squareis 4{¢c~9)

Find the perimeter of the square when ¢ =18

Score/Algebra/Year 8

/N

67



